4% ootz £ 1 HEE

=3 - HZLE 012,016, 820, 925, 332 940,850, 363, @80, @100

= —_ —_
» U2 0|EEE FENE
F=25 EIY
@& 2ESSE M
o Z2HA| 7|4
YC@Q 2A][12 |- 25] [DM][A94K]
® 20 @® ©® © O
@ oadyE @ M2 B AEE]
271S : XA HILYE W : @12, 316
D : XHA LRI -5, 10, 15, 20, 25, 30
e W : 920, 325
@ FES _ — 5,10, 15, 20, 25, 30, 35, 40, 45, 50
2A 1 HS SHYEES) LHZ : @32, @340, @50, @63, @80, @100
2B : ASFHY(ASH) - 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
® EHLH ® LIAFHEY
= D: 2 LA}
12 S LUk 120m DM : 25 £LHA}
16 : Al2IE LHZ 16mm ' -
20 : A2IH LiE 20mm ©® QEAQR|
25 - &2IH LHE 25mm MK : QEASYE) 3t
32 . A2 LHE 32mm
40 : 2IE LiZ 40mm @ LEAQR| F7|5
50 : A=K LHZ 50mm 97|15 ; pHER
63 : AZIE] LHZ 63mm S 17 2&
80 : AZIE] LHZ 80mm N : N7H E2%t
100 : A2IH L 100mm
¢ QEALIX| EH & J|EfUH x|z
=l 35 Bt Ab ARF sy =]
D-AGUK T8 Yol Hl2 % ATO|KE 4]
JZ0E
S|
(oA DC5~AC230V
= P 0fl) YCDQ2A 40-55 DM—A94K
D-AAK=V azE ~ 75AER2T BEZ0| AH0|A 20mm Al

% QEAIX| 2H|E : D-AK : 1M, D-A94K-L3 : 3M, D-AK-L5 : 5M

144YPC



s =N 2= mac
t—— =

ﬁ@ I N Z7| Y 22 A

e AR 0.05Mpa(0.5 kgt/cm?)

d %//// ZTAtE 1.0Mpa(10 kgf/cm?)

HELjH 1.5Mpa(15 kgf/cm?)
2 M 2g
% — RFAILARS =N
=
) A2 IAE &5 50 ~ 750 mm/s
F2 HAERA 2= 5~ 60°C (41~ 140°F)
= 239 (224 IS0 VG324)
I EEEEES
KM H|LHA KAl LR

* ERE * wSRF IHZNE
5 bz e HlZ HE T = TEHZ
@ LE) e = A 220l 0) @12 A2 YCQ-12-PS
@) =l U205 3 4E L20M0|E ® @16 A2 YCQ-16-PS
® 2E 7K U205 3 Z4E UZ0i0IE ® @20 Al2i] YOQ-20-PS
@ = @ @25 A2 YCQ-25-PS
® 0-Ring NBR
) —c - ® @32 A2 YCQ-32-PS E%\Eﬁnl.!l H;o; |
o e e —— ® 040 AlziCH YCQ-40-PS Pt
mAE P — J——— @ @50 &It YCQ-50-PS
©) IAE THY NBR 063 2t YCQ-63-PS
® opasl RUBBER ©® @80 A2 YCQ-80-PS
@ gz Etaz © @100 A2Id YCQ-100-PS

www.ypc.co.kr 145



o ARIC| FRE

> 7[2S(XH HILIEY, LI
YCQ2A-@12, 316, 920, §25-D

HDPC a. E_ PPT)
S QO -
4-ON Hole Ll B+Storke
8-00 A+Storke
01 ofct ) )
- Tap Dimension
{ } EETEN Y R
@12 M4 x 0.7 10
T @16 | Max07 | 10
R R @20 M6 x 1.0 17
B+Stroke @25 M6 x 1.0 17
YCQ2A—-@32, @40, @50, @63, @80, @100-D
HOPC Q_ F P(PT)

4—@N Hole L B+Storke
8-00 A+Storke
J

of Ut Tap Dimension

/_\{ =] ol R

{ } 032 | M6x10 | 17

0 | Mex10 | 17

il 2 .

T 050 | M8x 125 | 20

R R @63 | M10x15 | 20

B+Stroke 280 |Mi12x1.75 25

2100 |Mi2x1.75| 25
gouy | *SE2EH ) A | B gD E|F| H |C|@|J|K|L|M|IN| @O P |a|z
o2 | o [205] 17 [6[25]45] mex05 [ 6] |- |5 [as[55[35] 650P4 | M5x08 [75] 7
216 22 [185| 8 |29 [45| Max07 | 8 | - | - | 6 | 35| 20|35 650P4 | M5x08 | 8 | 7
o0 | | 2e[195]10]36]5 [ wx0s |7 [ -] -8 [a5]e5[55] ooP7 [ wex08 [ 6|74
@25 275|225 |12 |40 | 5 | Mex10 |12| - | - | 10| 5 |28 55| 9or7 | mM5x08 |95|78
ow | a0 |2 |64 55 mexi2s|13]e0[as]14] 7 [as55] ooe7 18 |10 14
240 365|295 16 | 52 | 8 |M8x125 |13 |69 | 5 | 14| 7 |40 55| 9op7 8 |115] 14
250 385|305 | 20 | 64 |105| M10x15 |15 | 86| 7 | 17| 8 | 50 |66| 11DP8 4 | 11|19
063 | . .o |4 [ % [20[77]05[miox15[15]10s] 7 [17 8 [e0] o [1avpios | 1/a [14]19
280 53 | 435 | 25 | 98 |12.5| M16x20 | 21 132 6 | 22 | 10 | 77 | 11 |1750P135| 3/8 | 16| 26
@100 65 | 53 | 30 [117| 13 | M20x 25 | 27 |166| 65| 27 | 12 | 94 | 11 |1765DP 135| 3/8 | 23 | 26

146 YPC




o ARIC| XA

> 7[2S(XH HILIEY, KLIAD
YCQ 2A-@12, B16, @20, 325-DM

B1 " Q F P(PT)
N MM\
REE § e —¢9
C1
4- BN Hole X
8-30 L1 B+Storke
O1 OFEI' . .
/\f 2=t Tap Dimension
| | EETENI R
@12 | M4x07 | 10
S~——T— 316 | MAx07 | 10
R R 920 | M6x10 | 17

B+Stroke 225 M6x 1.0 | 17

YCQ 2A-@32, 340, @50, @63, @80, @100-DM

Q. F P(PT)
HL
%

- § Ho—

C1

X
4—@N Hole L1 B+Storke
8-00

Ot Tap Dimension

FEuUZ 01 R
@32 | M6x10 | 17
040 | M6x10 | 17
@50 | M8x1.25 | 20

R R $63 | MIOx15 | 20

080 |Mi2x175| 25

B+Stroke
2100 |Mi2x1.75] 25
sy |2 ®H B oo E|F| MM |Cc|e|J K| M|N| @O P |a|z|ct|x|L|H | B
o2 | 170162 45| M5x08 |6 |- |- |5 155[35] 650P4 [ M5x08 [75[ 7 | 0 |105| 14| 4|8
916 1858 [20]45[ Mex10 |8 -] -|6[20]35] 650P4 | M5x08 |8 [ 7 [10]12[155] 5 |10
020 | o [195110] 3| 5 [M8x125| 7 | - | - |8 |255/55| 90P7 [ M5x08 |8 [74]12]14 185 5 |13
925 2251240 | 5 [m0x1.25/ 12| - [ - [10]28[55] 90P7 [ M5x08 [95]7.8] 15 [17.5[225] 6 | 17
o3 | 2301164 |55 miaxis|13]604a5]14] 3 |65 opp7 1/8 | 10 | 14 |205/235|285| 8 | 22
940 29516 [ 52| 8 |M14x15|13 |69 | 5 | 14| 40|55 9pP7 1/8  |11.5] 14 [205|235)285) 8 | 22
250 305 | 20 | 64 [105| M18x 15|15 |86 | 7 [ 1750 [66] 11DP8 1/4 |11 [ 19| 26 [285[335] 11 | 27
063 | .o 302077105/ mi8x15] 15108 7 [17]60] 9 [ 140P105[ 1/4 [14[19]26 |285[385] 11 | o7
280 435 | 25 | 98 [12.5| Me2x 15 | 21 [132 6 |22 | 77| 11 [1750P135] 38 | 16 | 26 |325(355/435] 13 | 32
2100 40 |30 [117] 13 | M6 x15] 27 [1s6[65] 27 [ 94 [ 11 [1750P135] 3/8 [ 23 26 [32.5[35.5[435] 16 | 41

www.ypc.co.kr 147



o ARIC| FRE

> TIEE(RIA LRI, QHLIAY
YCDQ 2A-@12, 316, 820, @25-D

HDPC Q S Gl
§ Ho— o
4—@N Hole L|.  B+Storke
8-00 A+Storke

o1 . .

Qf=t Tap Dimension
I % FEUE 01 R
@12 M4 x 0.7 10
S~ @16 M4 x 0.7 10
R R @20 M6 x 1.0 17
@25 M6 x 1.0 17

B+Stroke

YCDQ 2A-@32, @40, @50, @63, 380, @100-D

Q.
) {
8 O—-+P
4—@N Hole L B+Storke
8-@30 A+Storke
J
of Q= Tap Dimension
s=z@] ot R
| I @32 | Mex10 | 17
N~ L1 @40 | M6x1.0 | 17

@50 M8 x 1.25 20
@63 M10 x 1.5 20
B+Stroke @80 |M12x1.75| 25
@100 [M12x175| 25

sy [ “SEBH A | B [eD|E|F| H |cle|J|K|L|M|N| @O P |a
o2 | |85/ 28 |6 25|45 Msx05 |6 |- |-]5|35[155/35] 650P4 | M5x08 |75
916 3 |305] 8 [20[a5] Max07 [ 8| - | -]6|35/20[35] 650P4 | M5x08 | 8
020 | [ 36 |815(10/36] 5| Msx08 |7 |-|-|8][45[255]55] 90P7 | M5x08 | 8
025 37532512 [40] 5 | M6x1.0 [12| - [ - [10] 5 [28[55] 9DP7 [ M5x08 |95
32 | |4 |33 [16]45|55/m8x125[13 60 a5 1a]7 |34]55] 90P7 /8 |10
940 465395 | 16 |52 | 8 | M8x125 13|69 5 [14| 7 [40[55] o9pP7 18 [115
250 485 | 405 | 20 | 64 [105| M10x 15[ 15 86| 7 [17 ] 8 |50 [66] 11DP8 /4| 11
063 | .o | 544 [20]77t05[miox15[15[103] 7 [17[8 [60] o[ 1aDPr0s| 14 |14
080 635 | 535 | 25 | 98 [12.5| M16x20 | 21 [132] 6 |22 [ 10|77 [ 11 [1750P 135 3/8 |16
2100 75 | 63 [ 30 [117[ 18 [meox25 | 27 [156]65[ 27 [12 [ o4 [ 11 [1750P135] 38 |23

148 YPC



o ARIC| XA

> 7[2B(XH LS, KLY
YCDQ 2A-@12, @16, 320, @25-DM

B el F P(PT)
H1
MM
Y\
= SR e ety

—/
c

4~ QN Hole X

8-00 L1 B+Storke

o1 . .

¥t Tap Dimension
] % CEVEIY R
~_ | 1 ] @12 | Max07 | 10
. 5 316 | Max07 | 10
@20 | Mex10 | 17
B+Stroke @25 M6 x 1.0 17

YCDQ 2A-@32, @40, 350, @63, @80, 3100-DM

Q. _E_ PO
Hi
MM
K i
o | s A
S O—-©
(-
ct
X
E J 4— @ N Hole L1 B+Storke
8-00
o1 QT Tap Dimension
d EETE Y R
{ | 32 | M6x10 | 17
~_ | 1 ] @40 | M6x10 | 17
5 5 @50 | M8x 125 | 20
@63 | M10x 15 | 20
B+Stroke @80 |Mi12x175| 25

@100 |M12x1.75] 25

seuy | “SEo® ) B gD E|F| MM [C|@|J K| M[N| @O P |a|z|ct|x|Ll|H|B
o2 | |2 |6[25/45/M5x08 6]~ |-|5][6535] 6504 | M5x08 [75] 7 |9 |105[14] 4|35
916 305 8 [29]45] Mex10 [ 8| - [ -[6[20]35] 650p4 [ Msx08 [ 87 [10][12]155] 5 [10
o20 | [815]10]36] 5 [mext2s5] 7| - - |8 [255[55] o0p7 | w5x08 |8 [74]12]1al185[ 513
925 32512 40| 5 [Miox1.25[ 12| - [ - [10[ 2855 9DP7 [ M5x08 [95]78] 15 [175]225] 6 [ 17
o% | |38 116]4 65 Mi4xis[13]60|45]14] 34 |55 ovp7 1/8 | 10 14 [205]235)285] 8 | 22
240 305 [ 16 |52 8 [mi4x15[13]69] 5 [14]40]55] 9pP7 1/8 |115[ 14 [205[235[285] 8 | 22
950 405 | 20 | 64 [105| mi8x 15| 15 |86 | 7 [17 |50 (66| 110P8 | 1/4 | 11|19 26 [285|335] 11 [ 27
063 | .o |4 |20[77 [105[miBx15]15]108] 7 [17 60| o [140pr0s [ 14 [14] 19|26 [285[335] 11 [ 27
080 535 | 25 | 98 |12.5| M22x 15| 21 [132] 6 |22 [ 77 | 11 [1750P135| /8 | 16 | 26 |325[355435] 13 | 32
8100 63 | 30 [117] 13 | M6 x 1.5 | 27 |156] 65 | 27 | 04 | 11 [1750P 135 3/8 | 23| 26 [32.5]3555]435] 16 | 41

www.ypc.co.kr 149



